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Parallel Lines

Find the equation of a line passing through the given point and parallel to the given equation.

Write your answer in slope-intercept form.

1) (-3,-2) and y=5x+3 5) (-4,0) and -6x + 4y = -12
_3 5 _3

Answer: ¥ =2oX*5 Answer: Y = x+6

2) (-4,-3) and 4x +9y =-9 6) (1,5) and y=-2x-1
__4.,.43 __.5 15

Answer: Y= 9% g Answer: Y= 2X*+ 75

3) (2,3) and 2x+9y =18 7) (2,5) and -6x + 5y =-10
_.2 31 6, .13

Answer: Y= " gX*t g Answer: Y = 5X 5

4) (4,0) and y=3x-4 8) (5,-4) and y=§x-4
_ _5,. 33

Answer: y=3x+12 Answer: Y=o%5"p
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Perpendicular Lines

Find the equation of a line passing through the given point and perpendicular to the given equation.

Write your answer in slope-intercept form.

1) (1,-2) and y=-3x-15

1, 7
Answer: Y= X 3

5) (-4,0) and 3x+y=-12

.
Answer: y= 3

2) (-3,5) and -x+3y=-6

Answer: Y="3x-4

6) (-3,4) and y:-gx-1

-2 26
Answer: y_5x+ 5

3) (4,0) and y=2x-2

Answer: Y=~ —x “

7) (1,2) and y=-x+3

Answer: Y =X+1

4) (5,5) and 4x+3y=3

£

_3
Answer: y= 4 il

8 (-3,-4) and -3x+2y=6

yz-gx-6

Answer: 3
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Parallel, Perpendicular, and Intersecting Lines

Determine if the given pair of lines is parallel, perpendicular, or intersecting.

1) ¥=-3x-11 and 5x+3y =24

—S AR

Answer_:

5) y=-3x-10 and y=~1x-4

[RYIEN

Answer:

2) y=1x-6 and X + 4y = 32

Answer:

6) y=-§x+5 and —§x+4y=-16

Answer:

3) y=§x+19 and y=§x-5

Answer:

7) y=x+14 and x+y=8

A

R‘k\f\
Answer: ]x\\\ ,'\ \ L \\\ R0ty

4) y=-2x-18 and y=-2x + 2

Answer:

8) y=-—§x-12 and y=-§x+4

Answer:
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